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This Test consists of Two parts.
Part | — Mental Ability Test.

Part Il - Scholastic Aptitude Test.
This question paper is for part - |
Mental Ability Test. Time allotted to
answer the questions in this part (1
to 90) is 90 minutes. Marks to this
part is 90.

To answer part | and Il only one
OMR Answer Sheet is provided.
Answers to this part to be shaded
in the appropriate box in “Part -I
Mental Ability Test” portion, using
Blue / Black ball point pen.

Write your Roll Number as given in
your admission card. (Centre Code
No. and Sl.No.) very clearly in the
question booklet and in the Answer
Sheet (Only one digit in one box)

For example, a student appearing
from Centre Code No. 0102 with
SI.No. 006 will have to write the
Roll No. as follows.

Roll No.
Centre Code No. Si.No
0/]1/0] 2 0/0]6
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Other Instructions
Read Carefully

. Write only candidates Name and

Roll.No. in the space provided in
the Answer Sheet and affix your
signature.

. All questions are compuisory.

Since the time allotted to answer
is very limited, you should make
the best use of it, by not
spending too much time on any
one question.

Choose the correct answer from
the options given for each
question and shade the
corresponding box with biue /
black ball point pen, in the
answer sheet.

In the Answer Sheet if you shade
more than one answer number
or if you overwrite or delete the
answer number, no mark shall
be awarded to that answer.

. Two blank sheets have been

provided at the end of the
question bookiet. Use it for
rough work. Answers on these
pages will not be considered for
Valuation.

In future for correspondence, if
any, quote your Roll No.
(Centre Code No. and Serial No.)

without all.
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(1) Blue (2) Green
(3) Orange (4) Pink
(1) Asia (2) Europe
(3) Australia (4) India
(1) See (2) Hear
(3) Smell (4) Think
(1) Uncle (2) Nephew
(3) brother (4) Niece
(1) JOT 2) OUT
(3) FED 4) DOG
M11K 2)17Q
33C 4)8H

(1) STUA (2) RQPA
(3) MLKA (4) HGFA
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Chimney : smoke : : GUN : ?

(1) fire (2) bullet
(3) death 4) army
DDA : ADD ::RRB:?

(1) RBR (2) BRB
(3) BRR (4) RBB
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Direction (Questions 1-7)
Choose the word which is least
like the other words

(1) Blue (2) Green
(3) Orange (4) Pink
(1) Asia (2) Europe
(3) Australia (4) India
(1) See (2) Hear
(3) Smell (4) Think
(1) Uncle (2) Nephew
(3) brother (4) Niece
(1) JOT (2) OUT
(3) FED (4) DOG
MH11K 2)17Q
3)3cC 4)8H

(1) STUA (2) RQPA
(3) MLKA (4) HGFA

Direction (Questions 8 — 14)

There is a question mark in both
questions in which only one of the four
alternatives given under satisfied the
relationship as in found between two
terms on the other side of the sign : :

Chimney : smoke : : GUN : ?

(1) fire (2) bullet
(3) death (4) army
DDA : ADD ::RRB:?

(1) RBR (2) BRB
(3) BRR (4) RBB
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India : President : : State : ?

(1) Prime Minister (2) Governor

(3) Chief Minister (4) Mayor

Eyes : Tears : : Volcano : ?

(1) Lava (2) Heat

(3) Water (4) rock

12:169::14: 7

(1) 196 (2) 144

(3) 225 4) 121

27:9::64:?

(1) 16 (2)32

3)¢& 4) 4

CD:34:: JK:?

(1) 1110 (2) 910

(3) 1011 4) 119

suflpem (efeor eretor. 15—-18)
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(1) PNIICC (2) PCINIC

(3) PCIINC (4) PICNIC

‘479’ ererugl ‘fruit is sweet’ eretrmud

‘248’ stetrug) ‘very sweet voice’ steigid

‘637" ereirugl ‘eat fruit daily’ erstrgud

GOILALmeb ‘is’ sTeiTuSHE W GBuIG

12 2)4

3)7 49

‘MAN’ 6TEETLIG 60T ‘OCP’

srerSGHS LT  ‘BOY’  ershrugsmen

&ilé@th afigib

(1) DQZ (2) DQA

3) CPZ (4) AQD
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: State : ?
(2) Governor

: Volcano : ?

(2) Heat
{4) rock

(2) 144
(4) 121

) 32
(4) 4

(2) 910
(4) 119

Direction (Questions 15 - 18)
For the given situations, choose

the correct option.

REMOTE is coded as ROTEME.

PICNIC is coded as
(1) PNIICC (2) PCINIC
(3) PCIINC (4) PICNIC

‘479’ means ‘fruit is sweet’ ; ‘248’
means ‘very sweet voice’ and ‘637’
means ‘eat fruit daily’. The digit for

‘is’ is
12
3)7

(2)4
OR

‘MAN’ is written as ‘OCP’ then
‘BOY’ is written as

(1) DQZ
(3) CPZ

(2) DQA
(4) AQD
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‘134’ means “They are well” ‘738’
means ‘they go home’; ‘869° means
“We are home”. The word ‘go’
represents the digit

a7 2)3

3)8 41

Direction (Question 19, 20)

Read the content, sense the
direction and answer the questions 19
and 20.

A man is facing East. He turns 45° in
the clockwise direction and then
another 180° in the same direction and
then 270° in the anticlockwise
direction. Which direction is he facing
now?

(1) South

(3) South East

(2) North East
(4) North West

A man is performing yoga with his
head down and legs up. His face is
towards West. In which direction will
his left hand be?

(1) South
(3) East

(2) North
(4) North East

Direction (Questions 21-23)

In each question the numbers
are arranged in a sequence based on
certain principle. Select the answer
from the four alternatives given under
each sequence for the term marked by
the Symbol (‘?°).

11,12,20,47,2 ............
(1) 91 ) 101
3) 111 ) 121
5,7,10,15,22,? ........
1) 31 2) 33
(3) 35 4) 37

DES a pe
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2,3,5,8,13,21, 2 ......
(1) 34 (2) 29
3) 30 4) 32

suiflpemp (aflsor erstior. 24—25)

Csrésiu’Rsrer Qgm_iseafls
SOUDTE (T 6T6U0T DYEMLFISTOTES i emsur
Caibos@sEs.

24, 27, 31, 33, 36, 39

1) 24 (2) 31
3) 36 4) 39
8, 15, 24, 37, 48, 63

(1) 15 (2) 24
(3) 37 (4) 63
auflsmp (26-30)
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(1) 34 (2) 29
3) 30 @) 32

Direction (Questions 24 — 25)
Find the wrong terms in the
series.

24,27, 31, 33, 36, 39

(1) 24 ) 31
(3) 36 (4) 39
8, 15, 24, 37, 48, 63

(1) 15 (2) 24
(3) 37 (4) 63

Direction (26-30)

The diagrams and the numbers/
letters follow certain principle. Fine
the missing number / letter indicated

by questior: mark (‘?°)

P,
31 4 5
217 20 1? %K; )
(1) 56 @2z e
3)23 @)1
e [7 ] |
LéJof2 [ 8]nfs ][ s]e][7]
i : e
®7 24
33 4)8



— ’ WY P actasatar et

- Al B | 12 2
E | ? | 58
B | s
() H 2)J
Q) F 4G
29. 29.
(1) 20 2) 16
(3)19 417
30. i : 30.
7 M 13 w7 |s
2 2
(1) 78 (2) 88
(3) 98 (4) 108

aunflpsmm (@feorm stevor. 31-35)
Spsargid eflemesEnse Wl

Quim(m SgLomer aflemL_uSlsmenr
QarGssLiu HsTer 4 Lormm
sflen._aaflsdlelitg CoiitQsH\&saLb.

31. Qo Speuiast e HApumise weremsy 31,

2 smemsonit. @\ SHpiutssT Q@ ApimsE
Slstreomsd @ siremenri. @ Fgieusit @
flpauisEns@ @en ullse o srammsir sreuflsh
GoppsULs Ayeutsefisr sramsmilsme
16 23

)7 44

32. 8O ghoswlst sHCuTmsL aLg Semg 32,

waeflsr audsh 2 2 wLhisrs o 6rarg). 5
UGLASEHEES eTerT Shamsuisr auiwg
Lo eaflsdr sulLilsy 3 WL BISTS
BoEdGhem shomgulsr awg.

www {fnpsc.com (2) 40
(3) 60 (4) 50

M H 2)J
B®F 4G
7
S 3
8 é > 10
5 ?
13
(1) 20 2) 16
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Direction (Questions 31-35)

Identify the most appropriate
alternative among the given four
alternatives.

“Two boys in front of a boy, two boys
behind a boy and a boy between two
boys”. The smallest number of boys
for the above formation is

16
37

)3
44

A father is, at present, 2 and half times
as old as his son’. Five years back he
was three times as old as his son. The
age of the father is.

(1) 45
(3) 60

(2) 40
(4) 50
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In a group of cows and hens, the
number of legs are 40 less than four
times the number of heads. The
number of hens is

1) 15
(3) 20

(2) 30
4) 35

In an examination, a student scores 3
marks for every correct answer and
loses 1 mark for any wrong answer. If
he attempts all 80 questions and
secures 120 marks, the number of
questions she attempted wrongly, is

(1) 50
(3) 40

(2) 30
(@) 60
The unit digit of (194)**is

(1) 6
(3)2

(2)4
(4)8

Direction (Questions 36-37)

In each of the following
questions if the interchanges are made
in signs and numbers which one of the
four relations would be correct?

Given interchanges :

signs @ —and +
numbers: 4 and 8
(1)6-3+4=-1 (2)8-6+4=1
(3)4 +8-2=6 (4)4-8+6=12

Given interchanges :
Signs :+and —
numbers : 4 and 8
(1)4+8-12=16
2)4-8+12=0
(3)8 +4-12=24
(£8-4+12=8
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1x2=32;4x3=712; 4x7=1128 38.
s 7x3=

1)1021 (2) 2110

3)1010 4) 2121

1-3=89; 3+4=2716; 39.
4-3=6496eteeflb 1 ~2 =

(1) 81 2) 14

(3) 12 4) 18

ix9=144; 7x8=151, 40.
4x6=102 ererofled 2x 8=

(1) 106 (2) 168

(3) 1610 (4) 1616
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Direction (Questions (38-40)

In each of the following
questions, three statement of numbers
following same rules are given. Find
the rule and accordingly find the value
of the required statement.

If1x2=32; 4x3=712; 4x7=1128
then 7x3=

(1) 1021 (2) 2110
(3) 1010 (4) 2121
If2+3=89; 3+4=2716;
4+3=649thenl+2=

(1) 81 (2) 14

(3) 12 4) 18

If5x9=144; 7x8=151,
4x6=102then2x8=

(1) 106 (2) 168
(3) 1610 (4) 1616

Direction (Questions 41-50)
Choose the most appropriate
option among the given four options.

If the following series is written in the
reverse order, which number will be
the fourth to right of the seventh
number from the left?
7,10,2,0,3,7,5,8,9,11,12,6

(1) 10 2)2

37 4S5

01.08.2007 is the first Wednesday. The
fourth Saturday of August 2007 is

(1) 17.08.2007
(3) 18.08.2007

(2) 25.08.2007
(4) 24.08.2007
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How many numbers from 1 to 100 are
there such that these are not only
exactly divisible by 4 but also has 4 as

a digit?
18 2)9
36 @7

Kavitha is at 25" position from the top
in a class of 42 students. Her rank
from the bottom is

1) 16
3)17

(2) 19
(4) 18

A bus for Madurai leaves every 30
minutes from a bus stand. An enquiry
clerk told a passenger that the bus had
already left 10 minutes ago and the
next bust will leave at 9.45 AM. The
time of enquiry of the passenger with
the clerk is

(1)9.15 AM (2) 9.25 AM
(3)9.05 AM (4) 10.15 AM
Arrange the given words in

alphabetical order. One that comes
last is

(2) multiple
(4) murder

(1) music
(3) mint

Which letter occurs most often in the
word ‘APPROPRIATE’?

(DR 2)A

3P 4 E

Which English alphabet letter is eighth
to the left of sixteenth letter from the
right end?

nc
QD

@B
4E
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‘MEASUREMENT"’ stettp sumi&enguilsd
2_6iTem TS G586 le0lH RS
2 HUTSSLILL L @TQsrT(h auMTSmS

(1) MASTER
(3) SUMMIT

(2) MANTLE
(4) ASSURE

‘SELFRIGHTEOUSNESS’ ststruigsmeur
susuLBl(mES! @ lus&LTs Smind
TG CLITE), Hemsv @5 &lemeur
&55MeUSSISOSNETEHLD 6TS5SI

(D E @G

3 H @T

suflpen (@flsor sTevar. 51-55)

Slp&STamILDd SUEDITLIL_TBIG6IT
gerflGgeflurs 3 2 miliserflsar
Qsm_iysmers OQararLgl. gauGamm
aflsormafigitd QamréaUu @erer
Qsrelusst gOs@ILL @R UL SHemer
HeneraQISGIHng). IS ET6uTs.
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Bus, Car, Vehicle

Cats, dogs, pets

Lawyers, Doctors, Teachers
Asia, India, Tamilnadu

Human beings, Educated, Employed
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Choose the word which can be formed,

from the letters of the word
‘MEASUREMENT’

(1) MASTER (2) MANTLE

(3) SUMMIT (4) ASSURE

The letter in the word
‘SELFRIGHTEOUSNESS’ does not

change its position when the letters are
reversed, is
HE
3H

)G
4T

Direction (Questions 51 — 55)

The following diagrams shows
some relationship among 3 items. For
each group of elements there
corresponds on diagram (1) or (2) (3)
(4). Select the diagram

QL@

@

Bus, Car, Vehicle

Cats, dogs, pets

Lawyers, Doctors, Teachers
Asia, India, Tamilnadu

Human beings, Educated, Employed
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suflpsmm (56-60)
Spsramid susmrUL S0 mES)
2_flw aflemLsmwié srewors.

Qesinusi-asaafiupfie Quppsuiassr
P&ECHTEMTLD ~ FHTHEDG SMIES e SH6iT
UL LD — 2 WITLOMEUTeUi &B6iT

staTugGemen GMINRRm) steuflsd

UL &b ‘4’ sreirp SHUIG GPIILG!

() soaflwey Qubp 2 wnorsTeautasT

) saafufle) Qubp FETSSeurtaEsT

) seafiufley Quprgeurtss.

@) ssaflugle Qubp FETSmess
ST SEUT &6

seafhugie; Qupm 2 wiomesr
peTSSarEmas GRSG GG

(s (2)4

3)2 43

soaflufle; CQuprs wersms M
GLemLmaraismeT GM&EL GHuiG
16 23

(R 47

swafufle; Gubp EpeTSSMTEMmeTS
©P&E0 GHuiGsr
1)3&4
31&2

2)2&3
41&4
2 Wmamm, ssuaflghiey Quprg
BaErSsarsmer GUINAG0 G

(1)6 )5

)7 44
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Direction ( 56-60)
For the given diagrammatic

representations answer the questions
for 56 to 60.

‘Rectangle’ indicates ‘Educated persons’
‘Triangle’ indicates ‘urban people’
‘Circle’ indicates ‘Tall persons’

The code 4 indicates

(1) Educated tall persons

(2) Urban Educated persons

(3) Non-Educated persons

(4) non-urban Educated persons

The urban Educated tall persons
indicated the code

2)4

Q)2 43

The un-Educated, short urban persons
indicated the code
1)6

A3)Ss

23
@7

Educated urban persons indicated the
codes

1H3&4
B31&2

2)2&3
41&4

The urban which are neither tall nor
Educated represented by the code.
1eé 2)5

3)7 4) 4
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Qar@ésuu@erst  tepHlsmeoulls
emésst 61 s 65 euemry
aflsnLwefléasayL.

i) A,B,C,D,E,ung F g
petrurssT sl L auigafls SwgmrSHHin
SjLofbgleTereont.

(i) A sretrusui B-&(@ suslIL&SLONS
@ystor_mb G SEe0 HyLofTgisTem.
3165 CrrgHler B gyemeuit C-5@

Croit srlTTE SLombgisemm

(iii) C ggemout D-6@ CEF @LLILbSLTE
Sjifgisremmi. 265 CrrgHed D
yoreut E-&@ GEit sréhlmme
Lo isiTemmt

(iv) F srebrusugmid eu’ L SE6d iLorhgeism

Hlsmevusled

Spsergyhd  aTTESERSS

ufemng CaiosH&ESMD

o fflw

B-ipgith A-& @enLufled ojoiThgisereurt
1cC 2)D
M @E

A-&5 Gt T QoiThgisTameurt
(1) F () E
(3B @C

A-6@ G @Llussid JjoihgieTamaurt
1B Q) E
3)F 4 C

D-ullsfmig sLEMHmauilsh jmeraimL
Joikglerer aiflsns
(1) DCAEBF
(3) DBFECA

(2) DFBEAC
(4) DFEACB

Ewsfimis  sgem  adidesullsd
SimeraiH Joipgierer suflens

(1 ECADFB (2) EBFDCA

(3) EACDFB (4) EDFCAB
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Direction (Questions 61-65)
For the given situations, answer
the questions 61-65.
(i) Six friends A, B, C, D, E, F are
sitting around a circular table at a
equal distance from each other.

(ii) A is sitting two places right of B,

who is exactly opposite to C.
(iii) C is on immediate left of D, who is
exactly opposite to E.
(iv) F is also sitting at the table.

The person sitting between B and A is

DHC (2)D

M DE

The person sitting opposite to A is
(1) F 2)E

3)B 4C

The person is sitting left of A is
(1)B 2)E

3 F “@C

The clockwise order of sitting the
persons from D is
(1) DCAEBF
(3) DBFECA

(2) DFBEAC
(4) DFEACB

The counter-clock wise order of sitting
the persons from E is

(1) ECADFB (2) EBFDCA

(3) EACDFB (4) EDFCAB
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auflpenp (efeorm.erevor. 66—71)

Spsargyid eflemesEnsE sl
Qi SLomeor eflemL_uSlsmeor
GarhSasiu’ HersT 4 T
aflenL_asaflel@mig CaiEOs®H &L,

A upph B guAGumi sCasrgmisst. C
wpgd D AGumMT sCargfiasr. A-ullsr
wastr D-uflsir Camgysir ererfle C-5@ B-sir

208 (pSoD
() shows (2) sGangren
@) srHsT (@ SAszium

M erstrusuit N-str sCasmgimt ; B stsorusurt
N- sGargmt ; M erstrusurit D-sir #Gamg
steefleb Sipamerusnassuafle) 2 miHurergre
SjFmLoWYD 2 My (LPHD

() N erstrueui B-uflsir #Camygsit

(2 N srsorueurr D-ufistr sCamygHT

(3) M srstrueurr B-uflstr sCamygit

(4) D erstrusurt M-ullstr sGasmygit

A, B, C, D, E, F gélGumt sul’L_augails
Bstry Qametme &S pmiser.

D wpgid C-sir @eoL_Gw B 2_sirsm.

E wpgnd C-sor @lem_Cuw A 2 siremm.

D-5 susoliusalid F o_semm etsuflsd

A upgib F-5&@ @enLGw 2_srereurt

(1)B @?C ()b @E

srome  wewfl 4.00-&@ @I Sesmy
werefib@h @emL_Gw o srer Caomsvorta

(1) 120° (2) 60°

(3) 90° (4) 160°

8- Gopisulsns 1 QasswTss
Csrar® 8, 5, 2, 1, 7, 6 &
Pesshisamed o HamssiuBd, @
Blewéa eresmraaflstr sTavsmiiSome

®m9 @10 311 @13

- @eTpmd @I G 1-smemw QEsLTSES

Qemor. 3  Qlwds  sTewraeflsr
eTevuTswflSemas
(1) 100 (2) 90

(4) 999
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Direction (Questions 66 -71)

Identify the most appropriate
alternative among the given four
alternatives.

A and B are brothers. C and D are
sisters. A’s son is D’s brother. How is
B related to C ?

(1) Father (2) Brother
(3) Grand Father (4) Uncle

M is brother of N ; B is brother of N ;
M is brother of D. Which of the
following is definitely true?

(1) N is brother of B
(2) N is brother of D
(3) M is the brother of B
(4) D is the brother of M

Six persons A, B, C, D, E, F are
standing in a circular form.

B is between D and C.

A is between E and C.

F is to be right of D.

The person between A and F is

(B @C @D @E

When the time is 4.00 AM the angle
between the hands of the clock is

(1) 120° (2) 60°

(3) 90° (4) 160°

The number of combinations of two
digit numbers having 8 as atleast one
of the digits, from the digits

8,521,7,6is
@9 2)10 3) 11 4) 13
The number of 3 digit numbers in
which the digit in the unit place is

always 1 is
(1) 100 (2) 90
(3) 1000 (4) 999
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suflpenm : (s sresor, 72-76)

A hgis B gyl UL Mg (e5d GenL G RO GSM_Ty 2 erarg, 365 wrfifiumsr Csm_iy C
Lomgid D-S@ih Bmé@Lomermsh Lmhg eSlen_ssir (1), (2), » (@-0\mhg) D-ulsmars; Com Qs GésnyLb.

Direction : ( Questions 72 — 76) :

There is a relationship between the figures (A) and (B). The same relationship exists
between the figure (C) and one of the options (1), (2), (3) and (4). Choose the Correct option.

RENEN TN
B[]0 =]
(73)L<p

B
m [ Y
2 3

A i)y

QIOIATT]
T
Elolaly
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! e |
! l ey oy
A s e s T M ¢
l——c 1———4 E»-—-——-—-(
[ | 4
- 2 3 4
Gar@ssiul L 2 u_nhisalldr Gsmrsdurs D 3

Direction : (Question 77 — 80) :

Select a figure from the answer figures {
in the place of D.
)
- ?
A B C D
1 2 3 4
(78)
D 8 | ao 9
A B C D
g |o»| 8| B
1 2 3 4
(79) A Al O &
A ® B C D
O D
AT A A A
1 2 3 4
(80)
L]
& D

www. TrbTnpsc.com
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mE@urerma D-uflener wrhpeflsnser (),

1), (2), (3) and (4) which would continue the series
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CsrRssiucQerer 4 u_hisafld CurESsLHn @@ U_SSmer CaiE0s0EE.

Direction : (Questions 81 — 86) :
Choose the figure which is different from others.

i

81)| C | —~ |
clolofo]
T 73 —
(82) ] \ ‘
Slggiagpc=
1 2 3 4
= - i
ey . | [ _’_J L
=
1 2 3 4
(84) S \AS PR W
1 7] 3 7
SINSHIN 7\
1 2 3 4
(86)
U E A S
1 2 3 7
388/115~19
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auflenp (efleorm Tedor. 87-90)
Campssiu’L u wrerg ), @, @), @ & wrppefesaflld @ uLGHurs
SiLigisTengl. Gmend CaiE0sHEs.

Direction : (Questions 87 — 90) :
Given figure followed by four alternatives (1), (2), (3) and (4) such that the given figure is
embedded in one of them. Choose the correct one.

(87) <

1 2 3 4

o=
1 2 3 4

(89)

Y
1 2 3 4

(90) X
1 2 3 4
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